CutList Optimizer

Verwendete Bestandsblatter = 1 Kacheln | 754x120 x2 \ 180x354 x2 \ 250x300 x1
Gesamtnutzflache 383400 77% Bestand 1000x500 x1
Gesamtabfallfliche 116600 23%
Totale Schnitte 9
Gesamtschnittldnge 4106
Schnittbreite 3
Bestandsblatt 1000500 25( 247
Genutzte Flache 383400 77% -
Verschwendete Flache 116600 23% =
Schnitte 9
Schnittlange 4106 120 120
Kacheln 5 =
Verschwendete Kacheln 5
Kachel Stlickzahl
754=120 2
180=354 2
3004250 1 gs0
# Kachel  SchnittResult
1 1000=500 y=180
2 180~500 x=354 180354
3 817<500 =x=250
4 817x250 =300 300x25C
6 B817x247 y=754
6 754x247 x=120 754=12(
7 754x124 x=120 754=12(
8 514x250 =354
9 354x250 x=180 354x=18( 3
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